Aptitude & Mental Ability Prepared By www.winmeen.com

Aptitude & Mental Ability Set 3
1. Find the radius of a sector whose arc length and area are 27.5 cm and 618.75 cm?
respectively
a.35cm b.25cm c.45cm d. 55 cm

al6vedledr Hermid 27.5 Q&.15. LigLiLieTe)] 618.75 &F.Q &.18. Q& mevorL 6UL L& G&mevorLl

LGS UWIN60T Q4 TLD & T6uoT.
3.35Q5.15. 9. 25 Q&F.10. @). 45 Q&.14. IF. 55 Q&.10.
Solution

Given that1=27.5 cm and Area = 618.75 cm?2. So,
Area = r
2

(27.5%r) _

= 618.75
r=45cm

2. If15% of x =20% of y then find x:y ?
a.3:4 b.4:3 c.17:16 d.16:17
X-60T 15% = y-60T 20% 6760116V X : y 85IT600T.
3|.3:4 3.4:3 @).17:16 .16 :17
Solution

Given 15% of x =20% of y

15x = 20y
x/y = 20/15
xX:y=4:3
3. Simplify:
If% = gandg = 1—2then iz:z is
a.% b % C-Z dS
2= 2o 2= 1—2 eTefl6b =% eTedTLIS!
e . @ . ¢
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Solution

. a 4 b 15
Given,-= - and - = —
b 5 c 16

now, (c? - a?)/(c? + a?)

“li-a

{1+

now, sub equation (2) in equation (1),

1-03
{1+

-
{1+9/16}
(16 - 9)
(16 +9)

=7
25
4. How many diagonals are there in a polygon of 15 sides?
a. 30 b.70 c.120 d. 90
15 LUSHMBIGET Q&ML Liev GCHTeorSHMHE@& 676 S56m60T  eLnetevadlL L MbIg 6T
D _6ITEIT60T?
9].30 34,. 70 @). 120 F. 90
Solution

The number of diagonals of a regular polygon with n sides is given by

d= n(n2_3), where d is the number of diagonals.
subn =15, you get
d=15*==15%*6 = 90.
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9 —-b
=>then =2 =
7 a+b

b.8 c.2 d.2
7 5

Solution

Suba=9andb=7

Ne)
|
~

2
16

el
+
N

Q| =

6. Greatest Common Divisor of 924 and 105 is
a.2l b. 23 c.24 d. 25
924 InMMILD 105-@) 60T LELIQILIIH QLIS 6U &5 S
.21 3, 23 @). 24 . 25
Solution
Find the prime factorization of 924
924 =2x2x3x7x11
Find the prime factorization of 105
105=3x5x7
To find the gcf, multiply all the prime factors common to both numbers:
GCF=3x7
GCF =21
7. The L.C.M. of three different numbers is 120. Which of the following cannot be their
H.CF.?
a.8 b.12 c.24 d. 35
eLneTmI QeuelBGeaumment eTevorg6fleorT LS.G).10. 120 6Tevflev GHLD&HGH600TL UM MIET 65
9161 Q16U 600TS 61607 LY.QILIIT. 6U B{6V6V?

9.8 34, 12 @). 24 FF. 35

Learning Leads To Ruling Page 3 of 13



http://www.winmeen.com/

Aptitude & Mental Ability Prepared By www.winmeen.com

Solution
LICM=2*2*2*3*5
Hence, HCF =4, 8,12 or 24
According to question,

35 cannot be HCF of 120

8. Given below are two series with specific pattern

7 13 29 53 13 217
5 (@ () (© @ (o)

What will come in the plate of (e)?
a.173 b. 171 c.153 d. 151
GG QHTH&HLILL R eTeT, ML L 2 55 & 6HL 60T Falqll @) (H QST J&H6r 6,

(e) —60T DS LIL] &5IT600T 5.

7 13 29 53 13 217
5 (@ () (© @ (o)

3. 173 34, 171 @. 153 FF. 151
Solution
7*2=14-1=13
13*2=26+3=29
20*2=58 -5=53
53*2=106+7 =113
113 *2 =226 -9 =217
Like this we solve the next series by multiplying 2 and subtracting and adding alternate
numbers to that
5*2=10-1=9
9*2=18+3=21
21*%2=42-5=37
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10.

37*2=74+7=81

81*2=162 -9 =153

The sides of triangle are in the ratio 3 : 4 : 5. The measure of the largest angle of the
triangle is

a. 60° b. 75° c.120° d. 1500

6(IH (L& B & IT6o0TS B 60T LIS BIGH6T 3: 4 : 5 6T6dT 6115 55560 2_6T6mS! 6760116V 25 60T
N sUQUFIW G ITetoTd 3 60T 3|66 WIMSI?

3. 600 3, 75° @). 120° IF. 1500

Solution

3x+4x+5x =12x

12x =180

X=15

then, large angle = 5x = 5x 15= 75°

A certain sum of money amounts to Rs. 8,880 in 6 years and Rs. 7,920 in 4 years
recpectively. Then its principal is

a.Rs. 7,500 b. Rs. 6,000 c. Rs. 8,000 d. Rs. 4,530

@0 GUILLILL Femergl 6 o,eoor(h&erley em. 8,880 Q&6 D , 4 600T(h &H6rfl6V
€. 7,920 QL& 6D IDMMISM G 6T60T 160 2| F 6V 6T60T LIS

3. ep. 7500 34, €15.6000 ©@). 8000 . 4530

Solution

Let the principal amount be rupees 'x'

and rate of interest be 'y'.

We know that,

interest=1=$

. . 6.

Interest in six years=—>
. 4

Interest in four years=—">

Total amount=principal amount + interest
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11.

As per given condition we have,

8880=x+2Y ... ... ...leqn
100
7920=X42L e 2eqn
100
By eql-eq2 we have,
960=22
100

96000=2xy

By putting eq3 in eql we get,

48000

8880_48000+{6(T)3’}
y

100

28800
100

8880=48000y+

8880= (4800000y+288000y)
100 y

888000y=4800000+288000y
600000y=4800000

By putting eq4 in eq3 we get,

x=6000

A person gets Rs. 50,000 (Fifty thousand ) as loan with interest rate 4% p.a. from a bank.
If the interest is calculated year wise, then the compound interest, after two years is

a. 4,000 b. 2,000 c. 2,080 d. 4,080

@6 Leoor(h eIl lq 4% eTeor em. 50,000 (3uUsSTUIFD) eumSuleSmH S
SLTTHL QUMIBMTT. 9,600T(H&HQSTIH (LM QUL LY &H60oTsGHL_L M6V, @) T6vor(h)
2,600T(H & 6T HLOGHS! 36T &L L CeUetorlql Fal (b 6UL L9.UIT6TS!

9{. 4000 34, 2000 @). 2080 FF. 4080

Solution

For 50000 and for 1 year at 4%

4 % 0f 50000 = 2000
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For CI the interest will be added to the principal for the next year
So the next year principal is 50000 + 2000 = 52000

For 52000 and for 1 year at 4%

4 % of 52000 = 2080

If we add both the interest 2000 + 2080 = Rs. 4080

12. What percentage is 15 paise of 2 rupees 70 paise?

a. 5% b.52% c.53% d.52%
2 eUMUL 70 emuLIFTel6ev 15 LIS 615860607 FH6I5N0?
). 5% . 55% 8. 5% . 52%
Solution

1 rupee =100 paise
2 rupee 70 paise = 270 paise

percentage of 15 paise of 2 rupees 70 paise is

= %100=20 = 529
13. Sanjay bought a bicycle for Rs. 5000. He sold it for Rs. 600 less after two years. Find the

loss percentage.

a.10% b. 14% c. 8% d. 12%

FehFl LG euetorlgeml €H.50008@& eUMBIGeTTr. @ revor(h 6U(HL BI85 EH G L]

Lm& em.600 Gemms s lMmTH eTeofl6V L L 5565858560858 & T60or.

3. 10% 3. 14% @). 8% F.12%

Solution

Cost price = 5000

Selling price = 5000 — 600 = 4400

From cost price find what is the percentage of 600

1% =50

50 *12 = 600

So 12%
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14. 15% of 578 + 22.5% of 644="?
a.231.4 b. 231.6 c.231.8
578 6L 15% + 6446V 22.5% = ?
9|. 2314 34, 231.6 @).231.8
Solution
15% of 578 = 86.7
22.5% of 644 =144.9
15% of 578 + 22.5% of 644 is
86.7+144.9 = 231.6

Prepared By www.winmeen.com

d. 233.6

M. 233.6

15. Calculate the perimeter of a quadrant of a circle of radius 21 cm.

a. 65 cm b. 75 cm c.44 cm

d. 88 cm

21 Q&S QLT LNETET STevalL L LI LIGHUIN6IT & MHMeIme)| & meoor.

3.65QF.15 &4 75Q&F.10
Solution
Circumference of circle = 2nr

Arc length of quadrant = w = %

Perimeter of quadrant = arc + 2 radii
=2+ 2r
2
= T
=1(5+2)
=3.57r

We know that radius is 21

So0 3.57 *21 =74.97 which is equal to 75
16. If x = 2 +1/3, then the value of x + i is

a.2v2 b. 4 c.v2

X=2+\/§,6T6'0ﬂ6'\)x+§ -60T LOBLILY

3. 2V/2 . 4 @. V2

Solution
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N

e
*_

1
2 +/3 2—/3

e 2,
=Gy s D27V

x+i=2+\/§+ 2—-V3=4

w

if we take conjugate

17. Find the value of 55 x 56
a. 3800 b. 3050 c. 3080 d. 8030
LD\ LIL| &ITevor: 55 x 56
9. 3800 34,. 3050 @). 3080 +. 8030
Solution
55 * 56 = 3080
18. The ratio of two numbers is 3 : 4 and their L.C.M. is 120. The sum of numbers is
a.70 b. 140 c.35 d. 105
@\ eTevorSefleor GG 3:4 Cswd sjeuadl(p eTevorevofleor WFF M G ILIL] 120
6Tet16L 36U ([H 6T600TSH 61T 60T Bl (D &R & MTemI & 6T60T LIS
.70 34, 140 @.35 . 105
Solution
Let the numbers be 3x and 4x.
LCM of 3x and 4x = 12x
Given that LCM of 3x and 4x is 12x
12x =120

x =22%= 10

12

Numbers are 30,40
Sum=30+40=70
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19. Pipe A can fill a cistern in 4 hours while pipe B can empty it in 6 hours. If both of them
are opened together at the same time when the tank is empty, the number of hours
taken by then to fill it is
a.6 b.8 c.10 d.12
@ BIsQsMLIgamw GLmul A euldlwinms BT eI @ BIFliLwn CHrsHHev 4 06vol]
CHILD HMII. 26 CHISH 6L GLMUI B 24,6078! 6 Lnetoll CHISHSH 60 QST g6l
BF @eveurney Hmbg LB &Ml QFURMS. 8T CHISH v @) Fevor(hGLD
FMHSLLLLTL QSTLISTNLTGI aueny @H6v & 56emer LD6oofl GHILD
QML IgemW BIFLILL LiuledTL(HILD 6T6TLIEN S Tn M.

9.6 3. 8 @).10 F.12

Solution

20. A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He then sold
it for Rs. 1,400. Find his gain or Loss percentage
a.Loss 6.67% b. Gain 6.67% c. Loss 20% d. Loss 6%
@@ BUF @@ Uamwpw WIS eleorigemul em. 125065@E UMBIGETTT. & 60)60T
FU®MSS €H.250 QFE| QFWSTH. el GHemeT eh. 14006 emm.

S|QUHEML_ GUITLILD S6VeVSI BLL &6 &MTevor. (F56755 5 6v)

3. 6.67% HLLLD 3. 6.67% GUITLILD
@). 20% BL_LLD F. 6% BLL LD
Solution

Man bought an old cycle for 1250rs..
so cost Price = 1250

amount spent on repairs = 250..
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Cost Price = purchase price + amount spent on repairs
=1250+250
=1500..
Sold it for 1400..
Selling Price= 1400
Cost Price > selling price..
so.. there is a loss..
loss = cost price - selling price
=1500 - 1400
=100..
Loss Percentage=(loss /cost price)x100
=(100/1500)x%100
=6.67%
21. 7 men can complete a work in 52 days. In how many days will 26 men finish the same
work?
a.l4 b. 35 c.28 d. 26
7 QL &6 @ GCealemevenll 52 BML &6l QFUWIgS WIGEHHaTmery. 365
GeuemevemUL 26 [BITL_GH6IT 61860607 [BITL_G6160 Q&S (L LILITIE6T?
.14 3, 35 @). 28 FF. 26
Solution
if 7 men complete a work in 52 days is as written as
7 men =52 days
1 men =%days
13 men = Zx 52
13 men = 14 days
22.A man's wages were decreased by 50% and the reduced wages were increased by 50%.

He has
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a. no profit and no loss b. aloss of 0.25%
c. aloss of 2.5% d. aloss of 25%
@eUleT 8060 50% GemmESLILGSRMmE. LeTer], GmmeEaHLILL L Faedluiley
50% 9B &HHELILOGBMSI 6160116V, 36U HES
3. @6LITLILOLD @)6L6M6V HLL (LOLD §)6V6DI6V
. 0.25% HLLLD
@). 2.5% BL_LLD
FF. 25% [HL_LLD
Solution
Let us assume the wage as 100
When it was decreased by 50% = 100 — 50 Rs. 50
then the reduced wages were increased by 50% . In Rs.50 if 50% was increased
=50+25=75
From 100 it is Rs.25 loss which is 25% loss.
23.The HCF and LCM of two numbers are 13 and 1989 respectively. If one of the number is
117, then determine the other
a. 121 b. 131 c.221 d. 231
@ revor(h) eTevor&erledr LS.QUIT.6u (HCF) lnmmih 1S.6).10(LCM) L& ulemed (nemmGul
13, 1989 6TedTMI 2 6TENSH. TV 6(H 6Tevorev0r60T OGFILIL] 117 eTevfleL LDMHGMTIH
6T600T6001 1 60T LOG)LIL| &5T600T.
). 121 <. 131 @. 221 /F. 231
Solution
let the two numbers are a, and b
a=117, b=?
hcf =13
lcm =1989
product of the given numbers=1lcm * hcf

a*b =lcm * hcf
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117 * b=1989 * 13

% 13
117

B=17*13
B =221

B =1989

therefore
second number b=221
24.What must be added to i to make it equal to x?

x—1 x+1 x2+1 x%-1
— c. d.
x+1 x—1 x x

i D LG0T 6T60&HE Tl _1Q60TITEV {55607 LOF)LIL| X 6T60T T\ 60) L85G LD

x—1 x+1 x241 x2-1
3. x+1 - x—1 @ x FF. x
Solution

Let the adding number is (k)
Then

E)+ (k) =x
K=(x)- (%)
By taking LCM

(x2-1)

K=
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